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What is the common difference of an A P. in which ay; — a; = 84
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The angle of elevation of the top Q of a vertical tower PQ from a point X on the ground
is 60° .From a point y 40 m vertically above X, the angle of elevation the top Q of

2 tower is 45° .Find the height of the tower PQ and the distance PX.(Use /3 = 1.73)
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If a tower 30 m high, casts a shadow 104/3m long on the ground, then what is the
3 angle of elevation of the sun ?
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The probability of selecting a rotten apple randomly from a heap of 900 apples is 0-18.
4 What is the number of rotten apples in the heap ?
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Find the value of p, for which one root of the quadratic equation pzc2 — 142 +8 =0
is 6 times the other.
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Which term of the sequence

1 1 3
20,19—,18—,17—

is the first negative term?
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Prove that the tangents drawn at the end points of a chord of a circle make equal
angles with the chord.
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A circle touches all the four sides of a quadrilateral ABCD. Prove that AB + CD = BC +
8 DA
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9 If the point P(x, y) is equidistant from the points A(5, 1) and B(-1,5), prove that 3x = 2y.
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If
(a2 + b2)a:2
+ 2(ab + bd)z + ¢

+d*=0
has real roots then
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On a straight line passing through the foot of a tower, two points C and D are at

distances of 4 m and 16 m from the foot respectively. If the angles of elevation from C
and D of the top of the tower are complementary, then find the height of the tower.
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A bag contains 15 white and some black balls. If the probability of drawing a black ball
from the bag is thrice that of drawing a white ball, find the number of black balls in the
bag.
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24
In what ratio does the point (ﬁ’ y) divide the line segment joining the points P(2,
2) and Q(3, 7) ? Also find the value of y.
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14 Three semicircles each of diameter 3 cm, a circle of diameter 4-5 cm and a semicircle
of radius 4-5 cm are drawn in the given figure. Find the area of the shaded region.
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Water in a canal, 5-4 m wide and 1-8 m deep, is flowing with a speed of 25 km/hour.
15 How much area can it irrigate in 40 minutes, if 10 cm of standing water is required for

irrigation ?
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The slant height of a frustum of a cone is 4 cm and the perimeters (circumference) of
16 its circular ends are 18 cm and 6 cm. Find the curved surface area of the frustum.
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Solve for x ;
1 n 3
z +1 b + 1
5
17 — T+ 4 y L 7é
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1
Two taps running together can fill a tank in S(E) hours. If one tap takes 3 hours
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more than the other to fill the tank, then how much time will each tap take to fill the
tank ?
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If the ratio of the sum of first n terms of two AP's is (7n+1) : (4n + 27), then find the
ratio of their mth terms.

® Watch Free Video Solution on Doubtnut

doudl

-

: FREE VIDEOS OF PREVIOUS YEAR
EXAM PAPERS

JEE ADVANCED | JEE MAINS
12 BOARD | 10 BOARDS

S EEEEE.-----

Made by & dowbtnut Fre 319 fog

20

CLASS 10 BOARDS MATHS SOLUTIONS - 2017

Prove that the length of the tangents drawn from an external point to a circle are
equal.
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In Fig. 10.13, XY and XY ' are two parallel tangents to a circle with centre O and
another tangent AB with point of contact C intersecting XY at A and X'Y ' at B.
Prove that ZAOB\ =\ 900
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An aeroplane flying at a height 300 metre above the ground passes vertically above
another plane at an instant when the angles of elevation of the two planes from the
same point on the ground are 60° and 45° respectively. Then the height of the lower
plane from the ground in metres is
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If two different dice are rolled together, the probability of getting an even number of
both dice is
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